Acrolein

Response Ratio

0.18—
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Response = 1.175e-002 * Amt + 4.089e-003
Coef of Det (r®2) = 0.997347 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y011322S.M
Calibration Table Last Updated: Fri Jan 14 05:48:29 2022
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Tert butyl alcohol
Response Ratio

o-® I I I I I
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Concentration Ratio

Response = 5.130e-002 * Amt + 5.035e-003
Coef of Det (r*2) = 0.998103 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y011322S.M
Calibration Table Last Updated: Fri Jan 14 05:48:29 2022
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